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Mechanical Engineering

1. The stress which a material fractures under large

number of reversal of stresses is called

(a) Endurance limit

(b) Creep

(c) Ultimate strength

(d) Residual stress

2. Hartnell governor could be classified under the head of

(a) Inertia type governor

(b) Pendulum type governor

(c) Centrifugal type governor

(d) Dead weight type governor

3. Sensitivity of an isochronous governor is

(a) Zero (b) One

(c) Two (d) Infinity

4. How many links would the simplest cam mechanism

have ?

(a) 1 (b) 2

(c) 3 (d) 4

5. The kinetic energy of a flywheel having moment of

inertia ‘I’ and angular speed ‘w’ is given by
(a) I (b) 2I

(c) 21
I

2
 (d) None of the above

6. The flywheel of moment of Inertia 9.8 kg.m2 fluctuates

by 30 rpm for a fluctuation in energy of 1936 joules.

The mean speed of the flywheel, in rpm is:

(a) 600 (b) 900

(c) 968 (d) 2940

7. Which of the following is called antifriction bearing?

(a) Slide contact bearing

(b) Collar bearing

(c) Rolling contact bearing

(d) all of the above

1. fdlh oLrq ds foHkatu ds le;] tc izfrcyksa dk cMh la[;k essa
mRØe.k gksrk gSa] rks ml izfrcy dh fLFkfr dks D;k dgrs gSa \
(a) lgu lhek
(b) foliZ.k
(c) pje lkeF;Z
(d) vof'k"V izfrcy

2. gkVZusy vf/kfu;a=d dks fdl izdkj oxhZd`r fd;k tk ldrk gSa \
(a) tMRo okyk vf/kfu;a=d
(b) isaMqye okyk vf/kfu;a=d
(c) vidsUnzh okyk vf/kfu;a=d
(d) dk;ZHkkj okyk vf/kfu;a=d

3. fdlh ledkfyd vf/kfu;a=d dks fdl izdkj oxhZd̀r fd;k tk ldrk gSa\
(a) 'kwU; (b) ,d
(c) nks (d) vuaUr

4. fdlh ljyre dSe ;a=koyh esa fdruh dfM;kWa gksrh gSa \
(a) 1 (b) 2

(c) 3 (d) 4

5. fdlh xfrikyd pØ dh ftldk tMRo vk?kw.kZ ‘I’ gks vkSj dksf.k;
xfr ‘w’ gksa] xfrt mtkZ fdruh gksxh \
(a) I (b) 2I

(c) 21
I

2
 (d) mi;qZDr es ls dksbZ ugha

6. ,d xfrikyd pØ ftldk tMRo vk?kw.kZ 9-8 kg.m2 gS] 30 rpm

izfr 1936 twy dh mtkZ ls mPpkop gksrk gSA rnuqlkj ml xfrikyd
pØ dh vkSlr xfr  rpm esa fdruh gksxh \
(a) 600 (b) 900

(c) 968 (d) 2940

7. fuEu esa ls dkSu&lh ?k"kZ.kjks/kh cs;fjax dgykrh gS\
(a) LykbM laidZ cs;fjax
(b) dkWyj cs;fjax
(c) osYyu laidZ cs;fjax
(d) mi;qZDr lHkh
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8. Whenever velocity ratio required is to be very exact

between two shafts at very small distance, and then

it is transmitted by

(a) Belts (b) Gears

(c) Leaves (d) Chain

9. In a slider crank chain used in reciprocating steam

engine cross-head and guides from a

(a) Turning pair (b) Sliding pair

(c) Rolling pair (d) Spherical pair

10. The gear train in which the first and last gear have

the same axis, is called a/an

(a) Epicycle gear train

(b) Reverted gear train

(c) Simple gear train

(d) Compound gear train

11. A solid shaft of diameter D carries a twisting moment

that develop maximum shear stress. If the shaft is

replaced by a hollow one of OD = D and ID = 3/4 D;

then the maximum shear stress will be

(a)
16

15
 (b)

15

16


(c)
256

175
 (d)

175

256


12. With the increase of slenderness ratio, the compressive

strength of the column is

(a) Increased

(b) Decreased

(c) Unchanged

(d) May increase or decrease

13. A simply supported beam of length ‘L’ carries a
concentrated load W at its center. If EI is the flexural

rigidity of the beam, strain energy due to bending is

(a) W3L3/12EI (b) W2L3/24EI

(c) W2L3/48EI (d) W3L3/96EI

14. When a rectangular bar of length l, breadth b and

thickness t is subjected to an axial pull of P, the linear

strain is given by (where E = modulus of elasticity)

(a) btE/P (b) bt/PE

(c) P/btE (d) PE/bt

8. tc dHkh cgqr de nwjh ds nks 'kS¶Vksa ds chp visf{kr osx&vuqikr
vR;f/kd LVhd gksuk gSa] rks og fdlds }kjk vkxs lapkfyr gksrk
gSa\
(a) csYV (b) fx;j
(c) yhoj (d) psu

9. fdlh izR;kxkeh Hkki ds batu esa iz;qDr ljdus okyh ØSad psu esa ØkWl
gsM rFkk xkbM fdl izdkj dk ;qxy cukrs gSa \
(a) orZu ;qxy (b) lihZ ;qxy
(c) csyuh ;qxy (d) xksyh; ;qxy

10. og fx;j okyh xkMh ftlesa igyk rFkk vafre fx;j ,d gh /kqjh ij
gksa] D;k dgykrh gSa \
(a) vf/kpØh; fx;j xkMh
(b) izR;korhZ fx;j xkMh
(c) ljy fx;j xkMh
(d) fefJr fx;j xkMh

11. D O;kl okys ,d Bksl 'kS¶V esa] ,saBu vk?kw.kZ ds QyLo:i vf/kdre
vi:i.k&izfrcy mRiUu gks tkrk gSA ;fn ml 'kS¶V ds LFkku ij
OD = D vkSj ID = 3/4 D okyk ,d [kks[kyk 'kS¶V bLrseky fd;k
tk,] rks mldk vf/kdre vi:i.k&izfrcy fdruk gksxk \

(a)
16

15
 (b)

15

16


(c)
256

175
 (d)

175

256


12. ruqrk vuqikr c<kus ij] LrEHk dk laihMu lkeF;Z gksxk

(a) T;knk

(b) de

(c) vifjofrZr

(d) T;knk ;k de gks ldrk gSa

13. ‘L’ yEckbZ okyh ,d ljy vk/kkfjr NM vius dsUnz ij W dsanzhd`r

Hkkj mBk ysrh gSA ;fn ml NM dh vkueuh n`<rk EI gks rks mlds

cadu dh fod`fr mtkZ fdruh gksxh\

(a) W3L3/12EI (b) W2L3/24EI

(c) W2L3/48EI (d) W3L3/96EI

14. tc dksbZ vk;rkdkj NM ftldh yackbZ l pkSMkbZ b vkSj eksVkbZ t gksa]

P ds cjkcj v{kh; f[kapko >syrh gS] rks mldh jSf[kd fod`fr fdruh

gksrh gS \ (tgkWa E = izR;kLFkrk xq.kkad)

(a) btE/P (b) bt/PE

(c) P/btE (d) PE/bt
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15. A simply supported beam of span l carries a distributed

load that varies linearly from zero at either of the ends, to

w kg/m at the mid-span. The shear force will be zero at

(a) Supported ends

(b) Mid span

(c) A distance l/4 from either end

(d) Nowhere in the entire span

16. The variation of bending moment in a simply-supported

beam carrying a uniformly distributed load is

(a) Linear (b) Parabolic

(c) Hyperbolic (d) None of the above

17. During adiabatic process, essentially

(a) Entropy remains constant

(b) Enthalpy remains constant

(c) No work transfer takes place

(d) No heat transfer takes place

18. The product of tangential force acting on a shaft and

its radius is known as

(a) Bending moment (b) Twisting moment

(c) Torsional rigidity (d) Flexural rigidity

19. Maximum shear stress obtained from Mohr’s circle is
(a) Equal to the radius of the Mohr’s circle
(b) Greater than the radius of the Mohr’s circle
(c) Less than the radius of the Mohr’s circle
(d) None of the above

20. An engine receives 278 kJ/s of heat at a fixed

temperature of 2830C and rejects heat at the rate of

208 kJ/s to a sink maintained at 50C. The cycle on

which the engine works may be classified as

(a) Reversible (b) Irreversible

(c) Impossible (d) Unpredictable

21. According to Kelvin Planck statement, a perpetual

motion machine

(a) Of first kind is possible

(b) Of first kind is impossible

(c) Of Second kind is impossible

(d) Of Second kind is possible

22. A certain engine at full load delivers 80 kW. It requires

20 kW to rotate it without load. The mechanical

efficiency at full load condition will be

(a) 60 % (b) 70 %

(c) 80 % (d) 90 %

15. ,d  l foLr`fr okyh ljy vk/kkfjr NM vius mij ,slk forfjr Hkkj
lgrh gS tks nksuks fljksa ij 'kwU; gSa vkSj e/; LFky esa w kg/m gSA
rc vi:i.k cy fdl LFkku ij 'kwU; ds cjkcj gksxk \
(a) vk/kkfjr fljksa ij
(b) e/; LFky ij
(c) nksuksa fljksa ls l/4 nwjh ij
(d) iwjh NM esa dgha ugha

16. ,d ljy vk/kkfjr NM ds ftl ij ,dleku forfjr Hkkj ynk gks]
cadu vk?kw.kZ dk dk fopj.k dSlk gksxk\
(a) jSf[kd (b) ijoyf;d
(c) vfrijofy;d (d) mi;qZDr esa ls dksbZ ugha

17. :}ks"e izfØ;k esa oLrqr% D;k gksrk gSa \
(a) ,UVªkWih fLFkj jgrh gSaA
(b) ,UFkSYih fLFkj jgrh gSA
(c) dk;Z esa dksbZ varj.k ugha gksrk
(d) rki esa dksbZ varj.k ugha gksrk

18. fdlh 'kS¶V vkSj mlds f=T;k ij dk;Zjr Li'kZjs[kh; cykssa ds
xq.kuQy dks D;k dgrs gSa \
(a) cadu vk?kw.kZ (b) ,saBu vk?kw.kZ
(c) ejksMh n`<rk (d) vkueuh n`<rk

19. eksj ds o`r ls izkIr vf/kdre vi:i.k izfrcy fdruk gksrk gSa \
(a) eksj ds o`r dh f=T;k ds cjkcj
(b) eksj ds o`r dh f=T;k ds vf/kd
(c) eksj ds o`r dh f=T;k ds de
(d) mi;qZDr esa ls dksbZ ugha

20. ,d batu 278 kJ/s m"ek] 283°C ds fuf'pr rkieku ij xzg.k
djrk gS vkSj 208 kJ/s dh nj ij 5°C rkieku okys ,d flad
esa viuh m"ek fudky nsrk gSA rc ml batu dh dk;Ziz.kkyh ds pØ
dks D;k dgk tk,xk \
(a) izfrorhZ (b) vizfrorhZ
(c) vlaHko (d) vuuqes;

21. dsfYou&IySad ds dFkkuqlkj 'kk'or xfr ;a= dh okLrfodrk D;k
gSa\
(a) igyh izdkj dh laHko gSa
(b) nwljh izdkj dh vlaHko gSa
(c) igyh izdkj dh vlaHko gSa
(d) nwljh izdkj dh laHko gSa

22. dksbZ batu iwjs Hkkj dks mBkrs le; 80 kW nsrk gSA ogha batu fcuk
Hkkj ds ?kqekus ds fy, 20 kW ysrk gSA rc ml batu dh iwjs Hkkj
ds le; ;kaf=d {kerk fdruh jgsxh \
(a) 60 % (b) 70 %

(c) 80 % (d) 90 %
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23. For polytropic process pvn = c for a perfect gas,

change in entropy is given by the expression

(a)
2

1

Vn
Rin

1 V

 
  (b)

2

1

Pn
Rin

1 P

 
 

(c)
2

1

Vn 1
Rin

n V


(d)

2
v

1

Tn
C Rin

1 T

  
   

24. In a four-stroke cycle I.C. engine, the minimum

temperature inside the engine cylinder occurs at the

(a) Beginning of suction stroke

(b) End of suction stroke

(c) Beginning of exhaust stroke

(d) End of exhaust stroke

25. For testing of I.C. engine, dynamometer is used to

find the

(a) Indicated power (b) Brake power

(c) Fuel power (d) Friction power

26. The boiler accessory installed to recover heat from

exhaust flue gas for feed water heating is called

(a) Superheater (b) Economiser

(c) Air preheater (d) Reheater

27. Efficiency of diesel engine can be increased by

(a) Decreasing the compression ratio

(b) Decreasing the cut-off ratio

(c) Increasing the cut-off ratio

(d) Increasing the clearance volume

28. In a four-stroke cycle of an I.C. engine, the operations

are, in sequence

(a) Suction, compression, expansion and exhaust

(b) Suction, expansion, compression and exhaust

(c) Expansion, compression, Suction and exhaust

(d) Compression, Expansion,  Suction and exhaust

29. The continuity equation

(a) Requires that newton’s second law to be valid
(b) Relates mass rate of flow along a stream tube

(c) States that velocity at the boundary should be zero

(d) Relates rate of change of momentum

30. In an impulse reaction turbine, the pressure drops

(a) Only in the nozzles

(b) Only in the moving blades

(c) Only in the fixed blades

(d) Both in fixed and in moving blades

23. fdlh ifj'kq} xSl ds fy, ikWyhVªkWfid izfØ;k pvn = c dh fLFkfr esa
,UVªkWih esa ifjorZu dh x.kuk fdl rjg dh tkrh gS \

(a)
2

1

Vn
Rin

1 V

 
  (b)

2

1

Pn
Rin

1 P

 
 

(c)
2

1

Vn 1
Rin

n V


(d)

2
v

1

Tn
C Rin

1 T

  
   

24. fdlh pkj LVªksd okys I.C. batu ds pØ es batu ds flaysMj esa
U;wure rkieku fdl le; gksrk gSa \
(a) pw"k.k LVªksd ds vkjEHk esa
(b) pw"k.k LVªksd ds var esa
(c) fu"dklu LVªksd ds vkjEHk esa
(d) fu"dklu LVªksd ds var esa

25. I.C. batuksa ds ijh{k.k esa Mk;ueksehVj dk iz;ksx fdl 'kfDr dh
tkWp ds fy, fd;k tkrk gS \
(a) lwfpr 'kfDr (b) czsd 'kfDr
(c) bZa/ku 'kfDr (d) ?k"kZ.k 'kfDr

26. ikuh xje djus ds fy, fu"dklu ¶yw xSl ls rki iqu% izkIr djus
ds fy, yxk, tkus okys ckW;yj milk/ku dks D;k dgrs gS \
(a) lqij ghVj (b) bdksukWekbtj
(c) ok;q izksghVj (d) fj&ghVj

27. fdlh Mhty batu dh {kerk fdl izdkj c<kbZ tk ldrh gSa \
(a) laihMu vuqikr ?kVkdj
(b) foPNsn vuqikr ?kVkdj
(c) foPNsn vuqikr c<kdj
(d) vodk'k vk;ru c<kdj

28. fdlh I.C. batu ds pkj LVªksd okys pØ esa] mlds izpkyu dk Øe
D;k gksrk gSa \
(a) pw"k.k] laihMu] izlj.k rFkk fu"dklu
(b) pw"k.k] izlj.k] laihMu rFkk fu"dklu
(c) izlj.k] laihMu] pw"k.k rFkk fu"dklu
(d) laihMu] izlj.k] pw"k.k rFkk fu"dklu

29. lkarR; lehdj.k D;k gSa \
(a) mldh vis{kk gSa fd U;wVu dk f}fr; fu;e oS/k gSa
(b) og /kkjk ufydk ds lkFk nzO;eku dh izokg nj dk lEcU/k crkrh gSA
(c) og ;g crkrh gSa fd lhek ij osx 'kwU; gksuk pkfg,
(d) og laosx esa ifjorZu dh nj dk lEcU/k crkrh gSA

30. fdlh vkosx izfrfØ;k okyh Vjckbu esa] nkc dgkWa ij de gksrk gSa\
(a) dsoy VksfV;ksa esa
(b) dsoy xfr'khy CysMksa esa
(c) dsoy fLFkj CysMksa esa
(d) fLFkj rFkk xfr'khy nksuksa izdkj ds CysMksa esa
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31. When starting a centrifugal pump, the delivery valve

is kept

(a) Fully open (b) Fully closed

(c) Half open (d) Less than half open

32. Cavitation may occur in a fluid flow if

(a) Its enthalpy suddenly increases

(b) Its enthalpy suddenly decreases

(c) Its velocity suddenly reduces to zero

(d) Its pressure reduces to the level of vapour

     pressure

33. A device in which some portion of waste heat of flue

gases is recovered to heat the air before it passes into

the furnace for combustion purpose, is known as

(a) Superheater (b) Air preheater

(c) Reheater (d) Economiser

34. Which aspect is not valid for a fire tube locomotive

boiler?

(a) Externally fired (b) Horizontal placement

(c) Multi-tubular (d) Mobile unit

35. An ideal fluid

(a) Has no velocity

(b) Is compressive

(c) Obeys Newton’s law of velocity
(d) In both incompressible and non-viscous

36. Refer to the figure:-
A BP P  is

.

BA

m

h

x

l

(a)  m lh /   (b)  m lh   
(c)  m lh .   (d)  m lh   

37. For a body placed in water, the resultant hydrostatic

force at its:

(a) center of gravity (b) Metacenter

(c) Center of pressure (d) Center of buoyancy

38. Flux used in brazing is

(a) Aluminium (b) Borax

(c) Zinc chloride (d) Calcium carbide

31. fdlh vidsanzh iai dks pkyw djrs le; fuxZe okYo fdl rjg j[kk
tkrk gS \
(a) iwjk [kqyk (b) iwjk can
(c) vk/kk [kqyk (d) vk/ks ls de [kqyk

32. fdlh rjy izokg esa dksVju dc gksrk gSa \
(a) tc ,UFkSYih vpkud c< tk,
(b) tc ,UFkSYih vpkud de gks tk,
(c) tc osx vpkud 'kwU; gks tk,
(d) tc nkc ok"i nkc ds Lrj rd de gks tk,

33. ml lk/ku dks D;k dgrs gS] ftlesa ¶yw xSl dh vif'k"V m"ek ds
dqN va'k dks ok;q dh HkV~Vh esa xqtkjus ls igys rIr djus ds fy,
iqu% izkIr dj fy;k tkrk gS \
(a) lqijghVj (b) ok;q izksghVj
(c) fj&ghVj (d) bdksukWekbtj

34. vius V~;wc yksdkseksfVo ckW;yj ds fy, dkSu&lk i{k vlaxr gSa \
(a) cká vfXurIr (b) {kSfrt LFkkiu
(c) eYVhV~;wcyj (d) eksckby ,dd

35. dksbZ vkn'kZ rjy inkFkZ dSlk gksrk gSa \
(a) mlesa ';kurk ugha gksrh
(b) og laihM~; gS
(c) og U;wVu ds ';kurk fu;e dk ikyu djrk gSa
(d) og vlaihM~; rFkk v';ku gksrk gSa

36. izLrqr js[kkfp= ds vuqlkj
A BP P  D;k gksxk \

BA

m

h

x

l

(a)  m lh /   (b)  m lh   
(c)  m lh .   (d)  m lh   

37. fdlh fiaM dks ikuh esa j[kus ij] ifj.kkeh nzoLFkSfrd cy ml fiaM
ij dgkWa vlj Mkyrk gSa \
(a) xq:Ro dsUnz ij (b) vkIyo dsUnz ij
(c) nkc dsUnz ij (d) mRIykou dsUnz ij

38. czstu esa dkSu&lk ¶yDl bLrseky gksrk gSa \
(a) ,syqfefu;e (b) cksjsDl
(c) ftad DyksjkbM (d) dSfYl;e dkjckbM
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39. A Rota meter is used to measure

(a) Flow rate of fluids

(b) Viscosity of fluids

(c) Density of fluids

(d) Rotational energy of fluids

40. In pressure welding, the pressure required to

consummate the weld is

(a) Mechanical (b) Hydraulic

(c) Spring (d) Air

41. Carburising heat treatment is used for

(a) Softening the metal

(b) Refining grain structure

(c) Hardening outer surface

(d) Relieving internal stress

42. Molten steel is poured into water cooled vertical

copper moulds is

(a) Centrifugal casting

(b) Continuous casting

(c) Die casting

(d) Permanent mould casting

43. Cast iron steel pipes are produced by

(a) Slush casting

(b) Investment casting

(c) True centrifugal casting

(d) Die casting

44. Weld spatter defect in welding is due to:

(a) Low voltage

(b) High voltage

(c) Too high welding current

(d) Too low welding current

45. Tool signature comprises of

(a) 5 elements (b) 6 elements

(c) 7 elements (d) 8 elements

46. Single point thread cutting tool should ideally have

(a) Positive rake angle (b) Negative rake angle

(c) Zero rake angle (d) Normal rake angle

47. Investment casting uses pattern of

(a) Wax (b) Clay

(c) Wood (d) Metal

39. Iyo izokgekih D;k ekius ds dke vkrk gSa \

(a) rjy inkFkksZ dh izokg nj

(b) rjy inkFkksZ dh ';kurk

(c) rjy inkFkksZ dk ?kuRo

(d) rjy inkFkksZ dh iw.kkZRed mtkZ

40. nkc osYMu esa osYM dks yxkus esa fdl izdkj dk nkc visf{kr gSa \

(a) ;kaf=d (b) nzoh;

(c) fLiazx (d) gok

41. dkcZu O;kiu m"ek mipkj fdlesa iz;ksx fd;k tkrk gSa\

(a) /kkrq dks fi?kykus ;k uje djus esa

(b) d.k lajpuk csgrj cukus esa

(c) cká lrg dBksj cukus esa

(d) vkarfjd izfrcy de djus esa

42. xfyr bLikr dks ty 'khfrr m/okZ/kj rkWcsa ds lkWapksa esa Mkyus dks

dgrs gS

(a) vidsfUnz; <ykbZ

(b) larr <ykbZ

(c) BIik <ykbZ

(d) LFkkbZ lkWapk <ykbZ

43. <yokWa yksgs vkSj bLikr ds ikbi dSls cuk, tkrs gSa \

(a) voiad <ykbZ ls

(b) fuos'ku <ykbZ ls

(c) okLrfod vidsfUnz; <ykbZ ls

(d) BIik <ykbZ ls

44. osYMu esa osYM esa fNrjko dk nks"k fdl dkj.k vkrk gSa

(a) de oksYVrk

(b) mPp oksYVrk

(c) osYMu /kkjk cgqr T;knk

(d) osYMu /kkjk cgqr de

45. vkStkj fpUgd esa D;k 'kkfey gSa \

(a) 5 ?kVd (b) 6 ?kVd

(c) 7 ?kVd (d) 8 ?kVd

46. ,dydsUnzh /kkxk&drZd vkn'kZ vkStkj esa D;k gksuk pkfg,\

(a) /kukRed jsd dks.k (b) +_.kkRed jsd dks.k

(c) 'kwU; jsd dks.k (d) vfHkyac jsd dks.k

47. fuos'ku <ykbZ fdldk iSVuZ iz;ksx djrh gSa \

(a) ekse (b) feV~Vh

(c) ydMh (d) /kkrq
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48. osYMu esa de dVus dk nks"k fdl dkj.k gks tkrk gSa\
(a) nks"kiw.kZ bysDVªksM dk gsjQsj
(b) nks"kiw.kZ bysDVªksM dk iz;ksx
(c) /kkjk vR;f/kd jgus ij
(d) mi;qZDr lHkh dkj.kksa ls

49. ØsVj fu?k"kZ.k fdlesa lcls T;knk gksrk gSa \
(a) dkcZu vkStkj bLikr (b) VaxLVu dkjckbM vkStkj
(c) H.S.S. vkStkj (d) lsjsfed vkStkj

50. fuEu esa ls dkSu&lk nks"k <ykbZ dk nks"k ugha gSa &
(a) fu'kku (b) xeZ fonkj.k
(c) xeZ njkj (d) BaMk fojke

48. The undercutting defect in welding is due to

(a) Faulty electrode manipulation

(b) Faulty electrode usage

(c) Current too high

(d) All of the above reasons

49. Crater wear is predominant in

(a) Carbon tool steel (b) Tungsten carbide tools

(c) H.S.S. tools (d) Ceramic tools

50. Which of the following is not a casting defect?

(a) Scar (b) Hot tear

(c) Hot cracking (d) Cold shut

1 A 2 C 3 D 4 D 5 C
6 A 7 C 8 B 9 B 10 B
11 C 12 B 13 D 14 C 15 B

16 B 17 D 18 B 19 A 20 B
21 C 22 C 23 D 24 A 25 B
26 B 27 B 28 A 29 B 30 D
31 B 32 D 33 B 34 A 35 D

36 B 37 D 38 B 39 A 40 C
41 C 42 B 43 C 44 D 45 C
46 C 47 A 48 C 49 C 50 B

Answer Key


